Svatoslav Staněk An application of the Leray-Schauder degree theory to boundary value problem for third and fourth order differential equations depending on the parameter

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 34 (1995), No. 1, 155--166

Persistent URL: http://dml.cz/dmlcz/120325

Terms of use:

© Palacký University Olomouc, Faculty of Science, 1995

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

Acta Univ. Palacki. Olomuc., Fac. rer. nat., Mathematica 34 (1995) 155-166

An Application of the Leray–Schauder Degree Theory to Boundary Value Problem for Third and Fourth Order Differential Equations Depending on the Parameter

SVATOSLAV STANĚK*

Department of Algebra and Geometry, Faculty of Science, Palacký University, Tomkova 40, 779 00 Olomouc, Czech Republic E-mail: @risc.upol.cz

(Received February 3, 1995)

Abstract

The Leray-Schauder degree theory is used to obtain sufficient conditions for the existence and uniqueness of solutions of the boundary value problem $x''' = f(t, x, x', x'', \lambda), x(0) = x(1) = 0, x'(0) - x'(1) = 0,$ x''(0) - x''(1) = 0, depending on the parameter λ . The application is given to boundary value problems for one-parameter fourth order functional differential equations.

Key words: Leray–Schauder degree theory, Schauder fixed point theorem, quasi-linearization technique, boundary value problems depending on the parameter.

MS Classification: 34B15, 34K10

^{*}Supported by grant no. 201/93/2311 of the Grant Agency of Czech Republic

1 Introduction

Consider the one-parameter boundary value problem (BVP for short)

(1)
$$x''' = f(t, x, x', x'', \lambda),$$

(2)
$$x(0) = x(1) = 0, \quad x'(0) - x'(1) = 0, \quad x''(0) - x''(1) = 0,$$

where $f \in C^0(\langle 0, 1 \rangle \times \mathbf{R}^4)$.

We say that (x, λ_0) is a solution of BVP (1), (2) if $(x, \lambda_0) \in C^3((0, 1)) \times \mathbb{R}$ and x is a solution of (1) for $\lambda = \lambda_0$ satisfying (2).

This paper establishes sufficient conditions for the existence and uniqueness of solutions of BVP (1), (2). The proof of the existence theorem is based on the theory of completely continuous mapping and on the invariance of the Leray-Schauder degree with respect to a homotopy. More precisely, we apply the following theorem.

Theorem 1 [1, Theorem 1] Let **X** be a Banach space, $A : \mathbf{X} \to \mathbf{X}$ be a completely continuous mapping such that I - A is one to one, and let Ω be an open bounded set such that $0 \in (I - A)(\Omega)$. Then the completely continuous mapping $T : \overline{\Omega} \to \mathbf{X}$ has a fixed point in $\overline{\Omega}$ if for any $c \in (0, 1)$, the equation

$$x = cTx + (1 - c)Ax$$

has no solution x on the boundary $\partial \Omega$ of Ω .

The application of the obtained results for the existence and uniqueness of solutions for BVP (1), (2) leads in Section 4 to the investigation of functional BVPs for fourth order one-parameter functional differential equations using the quasi-linearization technique and the Schauder fixed point theorem.

We observe that BVPs for third order differential and functional differential equations depending on the parameter were studied by Pachpatte [3] using the technique of Green's functions and the Banach fixed point theorem and by the author [4]–[6]. In [4] using the Schauder linearization technique and the Schauder fixed point theorem, in [5] using a method based on a combination of the quasi-linearization technique, the Schauder fixed point theorem and a surjectivity result in \mathbb{R}^n and, finally, in [6] using a combination of the Leray–Schauder degree theory, the quasi-linearization technique and the Schauder fixed point theorem.

2 Existence theorem

Let **X** be the Banach space of C^0 -functions x on (0,1) with the norm

$$||x|| = \max\{|x(t)|; \ 0 \le t \le 1\}.$$

The proof of the existence theorem for BVP (1), (2) is based on the following lemma.

Lemma 1 Let $h \in C^0((0,1) \times \mathbb{R}^4)$. Assume there exist constants $\lambda_1 < 0$, $\lambda_2 > 0$, M > 0, T > 0 and a nondecreasing function $w : (0,\infty) \to (0,\infty)$ such that

- $(3') \quad h(t, p y, y, 0, \lambda_2) > 0 \text{ for } (t, p, y) \in \langle 0, 1 \rangle \times \langle 0, M \rangle \times \langle 0, M \rangle,$
- $(3'') \quad h(t, p-y, y, 0, \lambda_1) < 0 \text{ for } (t, p, y) \in \langle 0, 1 \rangle \times \langle -M, 0 \rangle \times \langle -M, 0 \rangle,$
- (4) $h(t, x, -M, 0, \lambda) < 0 < h(t, x, M, 0, \lambda) \text{ for } (t, x, \lambda) \in \langle 0, 1 \rangle \times \langle -M, M \rangle \times \langle \lambda_1, \lambda_2 \rangle,$
- (5) $|h(t, x, y, z, \lambda)| \le w(|z|)$ for $(t, x, y, z, \lambda) \in \langle 0, 1 \rangle \times \langle -M, M \rangle \times \langle -M, M \rangle \times \mathbf{R} \times \langle \lambda_1, \lambda_2 \rangle$ and

$$\int_0^T \frac{s\,ds}{w(s)} > 2M.$$

Let (x, λ_0) be a solution of BVP

(6)
$$x''' = h(t, x, x', x'', \lambda),$$
 (2)

such that $\lambda_1 \leq \lambda_0 \leq \lambda_2$, $||x|| \leq M$, $||x'|| \leq M$, $||x''|| \leq T$. Then

 $\lambda_1 < \lambda_0 < \lambda_2, \quad ||x|| < M, \quad ||x'|| < M, \quad ||x''|| < T.$

Proof Assume $\lambda_0 = \lambda_2$. Since x(0) - x(1) = 0 and x'(0) - x'(1) = 0, we have $0 \le \max\{x'(t); 0 \le t \le 1\} = x'(\xi)$ for a $\xi \in (0, 1)$.

a) If $\xi = 0$, then $x'(t) \le x'(0) (= x'(1))$ on (0, 1) and therefore $x''(0) \le 0$, $x''(1) \ge 0$ which implies x''(0) = 0 (= x''(1)) since x''(0) = x''(1) by (2). Thus x(0) = 0, $x'(0) \ge 0$, x''(0) = 0, $x'''(0) \le 0$ which contradicts $x'''(0) = h(0, 0, x'(0), 0, \lambda_2) > 0$ by (3') with y = p = x'(0).

b) If $\xi \in (0,1)$, then $x'(\xi) \ge 0$, $x''(\xi) = 0$, $x'''(\xi) \le 0$, and consequently $(x'''(\xi) =) h(\xi, x(\xi), x'(\xi), 0, \lambda_2) \le 0$. By (3'), $h(\xi, p - x'(\xi), x'(\xi), 0, \lambda_2) > 0$ for all $p \in (0, M)$ and therefore $x(\xi) = p_0 - x'(\xi)$ for a $p_0 < 0$. Thus $x(\xi) < 0$ and $x(\xi) < -x'(\xi) \le -x'(t)$ for $t \in (0, 1)$. Integrating the inequality $x(\xi) < -x'(t)$, $t \in (0, 1)$, from ξ to 1 we obtain

$$x(\xi)(1-\xi) < -x(1) + x(\xi) = x(\xi)$$

and then $\xi < 0$, a contradiction.

Assume $\lambda_0 = \lambda_1$. Then $(0 \ge) \min\{x'(t); 0 \le t \le 1\} = x'(\tau)$ for a $\tau \in (0, 1)$.

a) If $\tau = 0$, then $x'(t) \ge x'(0) (= x'(1))$ and therefore $x''(0) \ge 0$, $x''(1) \le 0$ which implies x''(0) = x''(1) = 0 since x''(0) = x''(1) by (2). Hence x(0) = 0, $x'(0) \le 0$, x''(0) = 0, $x'''(0) \ge 0$ which contradicts $x'''(0) = h(0, 0, x'(0), 0, \lambda_1) < 0$ by (3") with y = p = x'(0).

b) If $\tau \in (0,1)$, then $x'(\tau) \leq 0$, $x''(\tau) = 0$, $x'''(\tau) \geq 0$, and consequently $(x'''(\tau) =) h(\tau, x(\tau), x'(\tau), 0, \lambda_1) \geq 0$. On the other hand

$$h(\tau, p - x'(\tau), x'(\tau), 0, \lambda_1) < 0 \quad \text{for all } p \in \langle -M, 0 \rangle$$

by (3") and therefore $x(\tau) = p_0 - x'(\tau)$ for a $p_0 > 0$. Thus $x(\tau) > 0$ and $x(\tau) > -x'(\tau) \ge -x'(t)$ for $t \in \langle 0, 1 \rangle$. Integrating the inequality $x(\tau) > -x'(t)$, $t \in \langle 0, 1 \rangle$, from τ to 1 we obtain $x(\tau)(1-\tau) > -x(1) + x(\tau) = x(\tau)$, and then $\tau < 0$, a contradiction.

This proves $\lambda_0 \in (\lambda_1, \lambda_2)$. Assume ||x'|| = M, say for example $x'(\varepsilon) = M$ with an $\varepsilon \in (0, 1)$ (the case where $x(\varepsilon) = -M$ treats similarly using the second inequality in (4)). Then $x''(\varepsilon) = 0$ (cf. the first part of the proof) and $x'''(\varepsilon) \leq 0$ which contradicts $x'''(\varepsilon) = h(\varepsilon, x(\varepsilon), M, 0, \lambda_0) > 0$ by (4). Thus ||x'|| < M and then

$$|x(t)| = \left| \int_0^t x'(s) \, ds \right| < M \qquad \text{for } t \in \langle 0, 1 \rangle.$$

Finally, by (5), we have

$$|x'''(t)| = |h(t, x(t), x'(t), x''(t), \lambda_0)| \le w(|x''(t)|) \quad \text{for } t \in \langle 0, 1 \rangle$$

and since $x''(\nu) = 0$ for a $\nu \in (0, 1)$, we can prove ||x''|| < T using the standard procedure (see e.g. [2]) and assumption (5).

We shall assume that for constants $\lambda_1 < 0$, $\lambda_2 > 0$, M > 0, T > 0 and a nondecreasing function $w : (0, \infty) \to (0, \infty)$ the function f satisfies the following assumptions:

$$\begin{array}{l} (H_1) \ f(t,p-y,y,0,\lambda_2) \geq 0 \ \text{for} \ (t,p,y) \in \langle 0,1 \rangle \times \langle 0,M \rangle \times \langle 0,M \rangle, \\ f(t,p-y,y,0,\lambda_1) \leq 0 \ \text{for} \ (t,p,y) \in \langle 0,1 \rangle \times \langle -M,0 \rangle \times \langle -M,0 \rangle, \end{array}$$

- $(H_2) \ f(t,x,-M,0,\lambda) \leq 0 \leq f(t,x,M,0,\lambda) \ ext{for} \ (t,x,\lambda) \in \langle 0,1
 angle imes \langle -M,M
 angle imes \langle \lambda_1,\lambda_2
 angle,$
- $\begin{array}{l} (H_3) \ |f(t,x,y,z,\lambda)| \leq w(|z|) \ \text{for} \ (t,x,y,z,\lambda) \in \langle 0,1 \rangle \times \langle -M,M \rangle \times \langle -M,M \rangle \times \\ \mathbf{R} \times \langle \lambda_1,\lambda_2 \rangle \ \text{and} \end{array}$

$$\int_0^T \frac{s\,ds}{w(s)} > 2M.$$

Theorem 2 Assume assumptions $(H_1)-(H_3)$ are satisfied with constants $\lambda_1 < 0 < \lambda_2$, M > 0, T > 0 and a nondecreasing function $w : (0, \infty) \rightarrow (0, \infty)$. Then BVP (1), (2) has at least one solution.

Proof We denote by **Y** the Banach space of C^2 -functions on (0, 1) with the norm $||x||_2 = ||x|| + ||x'|| + ||x''||$, **Z** the Banach space of C^3 -functions with the norm $||x||_3 = ||x||_2 + ||x'''||$, $\mathbf{X} \times \mathbf{R} = \{(x, \lambda); x \in \mathbf{X}, \lambda \in \mathbf{R}\}$ the Banach space with the norm $||(x, \lambda)|| = ||x|| + |\lambda|$, $\mathbf{Y}_0 = \{x; x \in \mathbf{Y}, x \text{ satisfies } (2)\}$, $\mathbf{Z}_0 = \mathbf{Z} \cap \mathbf{Y}_0$, $\mathbf{Y}_0 \times \mathbf{R} = \{(x, \lambda); x \in \mathbf{Y}_0, \lambda \in \mathbf{R}\}$ the Banach space with the norm $||(x, \lambda)||_2 = ||x||_2 + |\lambda|$, $\mathbf{Z}_0 \times \mathbf{R} = \{(x, \lambda); x \in \mathbf{Z}_0, \lambda \in \mathbf{R}\}$ the Banach space with the norm $||(x, \lambda)||_3 = ||x||_3 + |\lambda|$ and $\mathbf{S} = \{(x, \int_0^1 x(s)ds); x \in \mathbf{X}\} \subset \mathbf{X} \times \mathbf{R}$. Clearly, **S** is a Banach space. Set

$$\varepsilon = \min\left\{\left(\frac{2w(0)}{3M}\right)^{\frac{1}{2}}, \pi\right\}, \qquad k = \frac{\varepsilon^2 M}{2\max\{-\lambda_1, \lambda_2\}}.$$

Define the operators $L, F, K : \mathbb{Z}_0 \times \mathbb{R} \to \mathbb{S}$ by the only of the operators $L, F, K : \mathbb{Z}_0 \times \mathbb{R} \to \mathbb{S}$ by

$$\begin{aligned} &(L(x,\lambda))(t) &= (x'''(t) + \varepsilon^2 x'(t) + k\lambda, k\lambda), \\ &(F(x,\lambda))(t) &= \left(f(t,x(t),x'(t),x''(t),\lambda), \int_0^1 f(s,x(s),x'(s),x''(s),\lambda) \, ds\right), \\ &(K(x,\lambda))(t) &= (\varepsilon^2 x'(t) + k\lambda, k\lambda). \end{aligned}$$

Consider the operator equation

(6_c)
$$L(x,\lambda) = c(F(x,\lambda) + K(x,\lambda)) + 2(1-c)K(x,\lambda), \quad c \in \langle 0,1 \rangle.$$

We see that BVP (1), (2) has a solution (x, λ_0) if and only if (x, λ_0) is a solution of (6₁). The existence of a solution of (6₁) will be proved using Theorem 1.

We will show that $L : \mathbb{Z}_0 \times \mathbb{R} \to \mathbb{S}$ is one to one and onto. Let $(u, \int_0^1 u(s) ds) \in \mathbb{S}$ and consider the equation

$$L(x,\lambda) = \left(u, \int_0^1 u(s) \, ds\right),$$

that is, the equations

(7)
$$x''' + \varepsilon^2 x' + k\lambda = u(t),$$
$$k\lambda = \int_0^1 u(s) \, ds,$$

where $x \in \mathbf{Z}_0$ and $\lambda \in \mathbf{R}$. The function

$$x(t) = \frac{c_1}{\varepsilon}\sin(\varepsilon t) - \frac{c_2}{\varepsilon}\cos(\varepsilon t) - \frac{k\lambda t}{\varepsilon^2} + \frac{1}{\varepsilon}\int_0^t \int_0^s u(\tau)\sin(\varepsilon(s-\tau))\,d\tau ds + c_3$$

is the general solution of (7), where c_1, c_2, c_3 are integration constants. We can easily check that there exists a unique solution $x_0(t)$ of (7) with $\lambda = \frac{1}{k} \int_0^1 u(s) ds$ satisfying the boundary conditions $x_0(0) = 0$, $x'_0(0) - x'_0(1) = 0$ and $x''_0(0) - x''_0(1) = 0$. Integrating the both sides of the equality

$$x_0^{\prime\prime\prime}(t) + \varepsilon^2 x_0^{\prime}(t) + k\lambda = u(t), \qquad t \in \langle 0, 1 \rangle$$

from 0 to 1 we obtain $x_0(1) = 0$ since $x_0''(1) - x_0''(0) = 0$, $x_0(0) = 0$ and $k\lambda = \int_0^1 u(s)ds$. Hence $L^{-1} : \mathbf{S} \to \mathbf{Z}_0 \times \mathbf{R}$ exists, L^{-1} is a linear bounded operator by the Banach theorem and (6_c) can be written in the equivalent form

$$(8_c) \ (x,\lambda) = c(L^{-1}Fj(x,\lambda) + L^{-1}Kj(x,\lambda)) + 2(1-c)L^{-1}Kj(x,\lambda), \quad c \in (0,1),$$

where $j : \mathbf{Z}_0 \times \mathbf{R} \to \mathbf{Y}_0 \times \mathbf{R}$ is the natural embedding, which is completely continuous by the Arzelà-Ascoli theorem and the Bolzano-Weierstrass theorem. Define

$$\Omega = \{(x,\lambda); \ x \in \mathbf{Z}_0, \ \lambda \in \mathbf{R}, \ \|x\| < M, \ \|x'\| < M, \ \|x''\| < T, \ \|x'''\| < w(T) + 1, \\\lambda_1 < \lambda < \lambda_2\}.$$

Then Ω is a bounded open subset of $\mathbf{Z}_0 \times \mathbf{R}$. $L^{-1}Fj + L^{-1}Kj$ is a compact operator on $\overline{\Omega}$ and $2L^{-1}Kj$ is a completely continuous operator on $\mathbf{Z}_0 \times \mathbf{R}$. In order to prove that (8₁) has a solution, that is, $L^{-1}Fj + L^{-1}Kj$ has a fixed point, we have to show (cf. Theorem 1) that

(a) $(x, \lambda) - 2L^{-1}Kj(x, \lambda) = (0, 0)$ implies $(x, \lambda) = (0, 0)$, and

(b) for any $c \in (0, 1)$ equation (8_c) has no solution on the boundary $\partial \Omega$ of Ω . To prove (a) consider the equation

$$(x, \lambda) - 2L^{-1}Kj(x, \lambda) = (0, 0),$$

which is equivalent to the equation

(9)
$$L(x,\lambda) = 2K(x,\lambda)$$

A couple $(x, \lambda) \in \mathbb{Z}_0 \times \mathbb{R}$ is a solution of (9) if and only if $\lambda = 0$ and x is a solution of the equation

(10)
$$y''' = \varepsilon^2 y'$$

satisfying

(11)
$$y(0) = 0, y'(0) - y'(1) = 0, y''(0) - y''(1) = 0.$$

Since

$$y(t) = \frac{c_1}{\varepsilon} e^{\varepsilon t} + \frac{c_2}{\varepsilon} e^{-\varepsilon t} + c_3$$

is the general solution of (10), where c_1, c_2, c_3 are integration constants, we can easily verily that y = 0 is the unique solution of BVP (10), (11); hence x = 0.

We shall now prove (b). Consider the differential equation

(12_c)
$$x''' = cf(t, x, x', x'', \lambda) + (1 - c)(\varepsilon^2 x' + k\lambda), \quad c \in (0, 1).$$

Assume (x_c, λ_c) is a solution of BVP $(12_c), (2)$. We show that $(x_c, \lambda_c) \notin \partial\Omega$, that is, for any $c \in (0, 1)$ equation (8_c) has no solution on $\partial\Omega$. Set $p_c(t, x, y, z, \lambda) = cf(t, x, y, z, \lambda) + (1 - c)(\varepsilon^2 y + k\lambda)$ for $(t, x, y, z, \lambda) \in \langle 0, 1 \rangle \times \mathbb{R}^4$ and $c \in (0, 1)$. Then $(c \in (0, 1))$

$$p_{c}(t, p-y, y, 0, \lambda_{2}) = cf(t, p-y, y, 0, \lambda_{2}) + (1-c)(\varepsilon^{2}y + k\lambda_{2}) > 0$$

for $(t, p, y) \in \langle 0, 1 \rangle \times \langle 0, M \rangle \times \langle 0, M \rangle$,

$$p_c(t, p-y, y, 0, \lambda_1) = cf(t, p-y, y, 0, \lambda_1) + (1-c)(\varepsilon^2 y + k\lambda_1) < 0$$

for $(t,p,y)\in \langle 0,1
angle imes \langle -M,0
angle imes \langle -M,0
angle,$ in the set of the formula field of the set

$$p_{c}(t, x, -M, 0, \lambda) \leq cf(t, x, -M, 0, \lambda) + (1 - c)(-\varepsilon^{2}M + k\lambda_{2}) \leq cf(t, x, -M, 0, \lambda) + (1 - c)(-\varepsilon^{2}M + k\lambda_{2}) \leq cf(t, x, -M, 0, \lambda) \leq cf(t, x, -M, 0, \lambda) + (1 - c)(-\varepsilon^{2}M + k\lambda_{2}) \leq cf(t, x, -M, 0, \lambda) \leq cf(t, x, -M, 0, \lambda) + (1 - c)(-\varepsilon^{2}M + k\lambda_{2}) \leq cf(t, x, -M, 0, \lambda) \leq cf(t, x, -M, 0, \lambda) + (1 - c)(-\varepsilon^{2}M + k\lambda_{2}) \leq cf(t, x, -M, 0, \lambda) \leq cf(t, x, -M, 0, \lambda) + (1 - c)(-\varepsilon^{2}M + k\lambda_{2}) \leq cf(t, x, -M, 0, \lambda) \leq cf(t, x, -M, 0, \lambda) + (1 - c)(-\varepsilon^{2}M + k\lambda_{2}) \leq cf(t, x, -M, 0, \lambda) \leq cf(t, x, -M, 0, \lambda)$$

for $(t, x, \lambda) \in \langle 0, 1 \rangle \times \langle -M, M \rangle \times \langle \lambda_1, \lambda_2 \rangle$,

$$p_c(t, x, M, 0, \lambda) \ge cf(t, x, M, 0, \lambda) + (1 - c)(\varepsilon^2 M + k\lambda_1) \ge$$
$$\ge (1 - c) \left(\varepsilon^2 M + \frac{\varepsilon^2 M \lambda_1}{2 \max\{-\lambda_1, \lambda_2\}}\right) > 0$$

for $(t, x, \lambda) \in \langle 0, 1 \rangle \times \langle -M, M \rangle \times \langle \lambda_1, \lambda_2 \rangle$,

$$|p_c(t, x, y, z, \lambda)| \le cw(|z|) + (1 - c)\left(\varepsilon^2 M + \frac{\varepsilon^2 M}{2}\right) \le 0$$

$$\leq cw(|z|) + \frac{2w(0)}{3M}(M + (M/2)) = cw(|z|) + (1 - c)w(0) \leq w(|z|)$$

for $(t, x, y, z, \lambda) \in \langle 0, 1 \rangle \times \langle -M, M \rangle \times \langle -M, M \rangle \times \mathbf{R} \times \langle \lambda_1, \lambda_2 \rangle$. Thus $\lambda_1 < \lambda_c < \lambda_2$, $||x_c|| < M$, $||x_c'|| < M$, $||x_c''|| < T$ by Lemma 1, and

$$|x_c''(t)| = |p_c(x_c(t), x_c'(t), x_c''(t), \lambda_c)| \le w(|x_c''(t)|) \le w(T)$$

for $t \in (0, 1)$. This proves $(x_c, \lambda_c) \notin \partial \Omega$. The proof is finished.

Corollary 1 Let $f \in C^0(\mathbf{R}^5)$,

$$f(t+1, x, y, z, \lambda) \equiv f(t, x, y, z, \lambda)$$

for all $(t, x, y, z, \lambda) \in \mathbf{R}^5$. Assume assumptions of Theorem 2 are satisfied. Then there exists a $\lambda_0 \in \langle \lambda_1, \lambda_2 \rangle$ such that equation (1) for $\lambda = \lambda_0$ has a 1-periodic solution x satisfying x(0) = 0.

Proof Corollary 1 follows immediately from Theorem 2 since f is a 1-periodic function by the assumption.

Example 1 Let $a, b \in C^0((0, 1)), q \in C^0(\mathbf{R}), b(t) > a(t) \ge 0$ for $t \in (0, 1), q(0) \ne 0$, $\limsup_{|x| \to \infty} |x^{-2}q(x)| < \infty$. Consider the differential equation

(13)
$$x''' = a(t)x + b(t)x' + q(x'') + (1 + |x''|)\lambda.$$

The assumptions of Theorem 2 are satisfied with $\lambda_2 = -\lambda_1 = |q(0)|$,

$$M = \frac{2|q(0)|}{\min\{b(t) - a(t); 0 \le t \le 1\}}$$

and $w(z) = A + Bz^2$, where A, B are sufficiently large positive constants.

3 Uniqueness theorem

Unless otherwise stated, we shall assume that f satisfies the assumptions:

- (H₄) $f(t, ., y, z, \lambda)$ is increasing on **R** for each fixed $(t, y, z, \lambda) \in (0, 1) \times \mathbb{R}^3$,
- (H₅) $f(t, x, .., z, \lambda)$ is increasing on **R** for each fixed $(t, x, z, \lambda) \in (0, 1) \times \mathbb{R}^3$,
- (H₆) f(t, x, y, z, .) is increasing on **R** for each fixed $(t, x, y, z) \in (0, 1) \times \mathbb{R}^3$,
- $\begin{array}{l} (H_7) \ f(t,x_2,y_2,z,\lambda) f(t,x_1,y_1,z,\lambda) > 0 \ \text{for all} \ (t,x_i,y_i,z,\lambda) \in (0,1) \times \mathbf{R}^4 \\ (i=1,2) \ \text{and} \ -(x_2-x_1) < y_2 y_1 > 0. \end{array}$

Lemma 2 Let $\frac{\partial f}{\partial x}, \frac{\partial f}{\partial y} \in C^0(\langle 0, 1 \rangle \times \mathbf{R}^4)$. Assume

(14)
$$\frac{\partial f}{\partial y}(t, x, y, z, \lambda) \ge \frac{\partial f}{\partial x}(t, x, y, z, \lambda) > 0 \qquad \forall (t, x, y, z, \lambda) \in \langle 0, 1 \rangle \times \mathbf{R}^4.$$

Then f satisfies assumptions (H_4) , (H_5) and (H_7) .

Proof First, $\frac{\partial f}{\partial x} > 0$ (resp. $\frac{\partial f}{\partial y} > 0$) implies that assumption (H_4) (resp. (H_5)) is satisfied. Further, let $-(x_2 - x_1) < y_2 - y_1 > 0$. Then the Taylor formula and (14) imply

$$\begin{split} f(t,x_2,y_2,z,\lambda) &- f(t,x_1,y_1,z,\lambda) = \\ &= \frac{\partial f}{\partial x}(t,\xi,\nu,z,\lambda)(x_2-x_1) + \frac{\partial f}{\partial y}(t,\xi,\nu,z,\lambda)(y_2-y_1) = \\ &= \frac{\partial f}{\partial x}(t,\xi,\nu,z,\lambda)(x_2-x_1+y_2-y_1) + \\ &+ \left(\frac{\partial f}{\partial y}(t,\xi,\nu,z,\lambda) - \frac{\partial f}{\partial x}(t,\xi,\nu,z,\lambda)\right)(y_2-y_1) > 0, \end{split}$$

where ξ and ν lie between x_1, x_2 and y_1, y_2 , respectively. Thus (H_7) is satisfied.

Theorem 3 Let assumptions $(H_1)-(H_7)$ be satisfied with constants $\lambda_1 < 0 < \lambda_2$, M > 0, T > 0 and a nondecreasing function $w : (0, \infty) \to (0, \infty)$. Then BVP (1), (2) has a unique solution.

Proof By Theorem 2 there exists at least one solution (x_1, μ_1) of BVP (1), (2). Assume (x_2, μ_2) is another solution of BVP (1), (2). Without loss of generality we may assume $\mu_2 \ge \mu_1$. Set $w = x_2 - x_1$. Then w(0) = w(1) = 0, w'(0) - w'(1) = 0, w''(0) - w''(1) = 0. Assume $w \ne 0$. Let $\max\{w'(t); 0 \le t \le 1\} = w'(\tau)$ for a $\tau \in (0, 1)$. Since w(0) = w(1) = 0 and $w \ne 0$, it is necessarily $w'(\tau) > 0$. If $\tau = 0$, then $w''(0) \le 0$, $w''(1) \ge 0$ and with respect to w''(0) = w''(1) we have w''(0) = 0. Thus

$$w'''(0) = f(0,0,x_2'(0),x_2''(0),\mu_2) - f(0,0,x_1'(0),x_2''(0),\mu_1) > 0,$$

a contradiction. This proves $\tau \in (0, 1)$ and then $w''(\tau) = 0$, $w'''(\tau) \leq 0$ which imply $w(\tau) < 0$ (cf. $(H_4)-(H_6)$). Since w(1) = 0, there exists a $\xi \in (\tau, 1)$ such that w(t) < 0 on (τ, ξ) while $w(\xi) = 0$, and consequently

$$-w(au) = \int_{ au}^{\xi} w'(s) \, ds \leq w'(au)(\xi- au) < w'(au).$$

Hence $-(x_2(\tau) - x_1(\tau)) < x'_2(\tau) - x'_1(\tau) (> 0)$ and by (H_6) and (H_7) we have

$$\sum_{x_{2} \in \mathbb{Z}} w'''(\tau) = f(\tau, x_{2}(\tau), x'_{2}(\tau), x''_{2}(\tau), \mu_{2}) - f(\tau, x_{1}(\tau), x'_{1}(\tau), x''_{2}(\tau), \mu_{1}) \geq \\ \geq f(\tau, x_{2}(\tau), x''_{2}(\tau), x''_{2}(\tau), \mu_{1}) - f(\tau, x_{1}(\tau), x''_{1}(\tau), x''_{2}(\tau), \mu_{1}) > 0,$$

162

which contradicts $w''(\tau) \leq 0$. Thus $x_2 = x_1$. If $\lambda_2 > \lambda_1$ then

$$0 = x_2'''(t) - x_1''(t) = f(\tau, x_2(t), x_2'(t), x_2''(t), \mu_2) - f(\tau, x_2(t), x_2'(t), x_2''(t), \mu_1) > 0,$$

a contradiction. This completes the proof.

Example 2 Let a(t), b(t) and q(t) be as in Example 1 and, moreover, a(t) > 0 on (0, 1). Then Theorem 3 can be applied to equation (13).

Using Corollary 1 and Theorem 3, we obtain

Corollary 2 Let $f \in C^0(\mathbf{R}^5)$,

$$f(t+1, x, y, z, \lambda) \equiv f(t, x, y, z, \lambda)$$

for all $(t, x, y, z, \lambda) \in \mathbf{R}^5$. If assumptions of Theorem 2 and assumptions $(H_4)-(H_7)$ are satisfied, then there exists a unique $\lambda_0 \in \mathbf{R}$ such that equation (1) for $\lambda = \lambda_0$ has a 1-periodic solution x, x(0) = 0 and, moreover, this solution is unique.

4 An application

We give the application of the above results for BVP

(15)
$$x^{(4)} = (g(x, x'(t), x''(t), x'''(t), \lambda))(t),$$

(16)
$$\alpha(x) = 0, \ x'(0) = x'(1) = 0, \ x''(0) - x''(1) = 0, \ x'''(0) - x'''(1) = 0,$$

depending on the parameter λ . Here $g : \mathbf{X} \times \mathbf{R}^4 \to \mathbf{X}$ is a locally bounded continuous operator, $\alpha : \mathbf{X} \to \mathbf{R}$ is a continuous increasing functional (i.e., $x, y \in \mathbf{X}, x(t) < y(t)$ on $(0, 1) \Rightarrow \alpha(x) < \alpha(y)$) mapping \mathbf{X} onto $\mathbf{R}, \alpha(0) = 0$. We observe that $\alpha(x) = 0$ for an $x \in \mathbf{X}$ implies $x(\xi) = 0$ for a $\xi \in (0, 1)$ (see, e.g., Remark 1 in [5]).

The special case of (15) is the differential equation

$$x^{(4)}=r(t,x,x',x'',x''',\lambda), \qquad r\in C^0(\langle 0,1
angle imes {f R}^5).$$

We say that (x, λ_0) is a solution of BVP (15), (16) if $(x, \lambda_0) \in C^4(\langle 0, 1 \rangle) \times \mathbf{R}$ and x is a solution of (15) for $\lambda = \lambda_0$ satisfying (16).

We shall assume that there exist constants $\lambda_1 < 0$, $\lambda_2 > 0$, M > 0, T > 0and a nondecreasing function $w : (0, \infty) \to (0, \infty)$ such that the operator gsatisfies the following assumptions $(t \in (0, 1), \mathbf{X}_M = \{x; x \in \mathbf{X}, ||x|| \le M\})$

$$\begin{array}{l} (A_1) \ \left(g(\varphi,p-y,y,0,\lambda_2)\right)(t) \geq 0 \ \text{for all} \ (\varphi,p,y) \in \mathbf{X}_M \times \langle 0,M \rangle \times \langle 0,M \rangle, \\ \left(g(\varphi,p-y,y,0,\lambda_1)\right)(t) \leq 0 \ \text{for all} \ (\varphi,p,y) \in \mathbf{X}_M \times \langle -M,0 \rangle \times \langle -M,0 \rangle; \end{array}$$

$$\begin{array}{l} (A_2) \ \left(g(\varphi, x, -M, 0, \lambda)\right)(t) \leq 0 \leq \left(g(\varphi, x, M, 0, \lambda)\right)(t) \text{ for all } (\varphi, x, \lambda) \in \mathbf{X}_M \times (-M, M) \times (\lambda_1, \lambda_2); \end{array}$$

Π

 $\begin{array}{l} (A_3) \ |(g(\varphi, x, y, z, \lambda))(t)| \leq w(|z|) \ \text{for all} \ (\varphi, x, y, z, \lambda) \in \mathbf{X}_M \times \langle -M, M \rangle \times \\ \langle -M, M \rangle \times \mathbf{R} \times \langle \lambda_1, \lambda_2 \rangle \ \text{and} \end{array}$

$$\int_0^T \frac{s\,ds}{w(s)} > 2M;$$

- $(A_4) \ (g(\varphi,.,y,z,\lambda))(t)$ is increasing on **R** for each fixed $(\varphi,y,z,\lambda) \in \mathbf{X}_M \times \mathbf{R}^3$;
- (A₅) $(g(\varphi, x, .., z, \lambda))(t)$ is increasing on **R** for each fixed $(\varphi, x, z, \lambda) \in \mathbf{X}_M \times \mathbf{R}^3$;
- $(A_6) \ (g(\varphi, x, y, z, .))(t)$ is increasing on **R** for each fixed $(\varphi, x, y, z) \in \mathbf{X}_M \times \mathbf{R}^3$;
- $\begin{array}{l} (A_7) \ \left(g(\varphi,x_2,y_2,z,\lambda)\right)(t) \left(g(\varphi,x_1,y_1,z,\lambda)\right)(t) > 0 \text{ for each } (\varphi,x_i,y_i,z,\lambda) \in \\ \mathbf{X}_M \times \mathbf{R}^4 \ (i=1,2) \text{ and } -(x_2-x_1) < y_2-y_1 > 0. \end{array}$

Theorem 4 Let assumptions $(A_1)-(A_7)$ be satisfied with constants $\lambda_1 < 0 < \lambda_2$, M > 0, T > 0 and a nondecreasing function $w : (0, \infty) \to (0, \infty)$. Then BVP (15), (16) has at least one solution.

Proof Set $\mathbf{S} = \{x; x \in \mathbf{Z}, \|x\| \le M, \|x'\| \le M, \|x''\| \le M, \|x'''\| \le T\}$, where \mathbf{Z} is defined in the proof of Theorem 2. Then \mathbf{S} is a bounded closed convex subset of \mathbf{Z} . Let $\varphi \in \mathbf{X}_M$ and $f_{\varphi}(t, x, y, z, \lambda) = (g(\varphi, x, y, z, \lambda))(t)$ for $(t, x, y, z, \lambda) \in \langle 0, 1 \rangle \times \mathbf{R}^4$. Then f_{φ} satisfies assumptions $(H_1) - (H_7)$ with the constants $\lambda_1 < 0, \lambda_2 > 0, M > 0, T > 0$ and the function w. Therefore there exists the unique solution $(v_{\varphi}, \lambda_{\varphi})$ of BVP (1), (2) (with $f = f_{\varphi}$) by Theorem 3. Moreover, $\|v_{\varphi}^{(i)}\| \le M$ $(i = 0, 1), \|v_{\varphi}''\| \le T, \lambda_1 \le \lambda_{\varphi} \le \lambda_2$ by Theorem 1 and the proof of Theorem 2. The function $k : \mathbf{R} \to \mathbf{R}$ defined by

$$k(c) = \alpha \left(\int_0^t v_{\varphi}(s) \, ds + c \right)$$

is continuous increasing and maps **R** onto **R**, and so a unique $c_{\varphi} \in \mathbf{R}$ exists such that $k(c_{\varphi}) = 0$. Set

$$x_{arphi}(t) = \int_0^t v_{arphi}(s) \, ds + c_{arphi} \qquad ext{for } t \in \langle 0,1
angle.$$

Then $\alpha(x_{\varphi}) = 0$ which implies $x_{\varphi}(\xi) = 0$ for a $\xi \in (0, 1)$. Hence

$$x_{arphi}(t) = \int_{\xi}^{t} v_{arphi}(s) \, ds \qquad ext{on } \langle 0,1
angle,$$

and consequently $|x_{\varphi}(t)| \leq M|t - \xi| \leq M$. This proves $x_{\varphi} \in \mathbf{S}$. Define the operator $T: \mathbf{S} \to \mathbf{S}$ by $T(\varphi) = x_{\varphi}$. We see that to prove of Theorem 4 it is sufficient to show that T has a fixed point.

Let $\{x_n\} \subset \mathbf{S}$ be a convergent sequence, $\lim_{n\to\infty} x_n = x$ and let $z_n = T(x_n)$, z = T(x). Then, by the definition of the operator T, we have

$$\begin{aligned} \alpha(z_n) &= 0, \ z'_n(0) = z'_n(1) = 0, \ z''_n(0) - z''_n(1) = 0, \ z'''_n(0) - z'''_n(1) = 0, \\ \alpha(z) &= 0, \ z'(0) = z'(1) = 0, \ z''(0) - z''(1) = 0, \ z'''(0) - z'''(1) = 0 \end{aligned}$$

and there exist sequence $\{\mu_n\} \subset \langle \lambda_1, \lambda_2 \rangle$ and $\mu_0 \in \langle \lambda_1, \lambda_2 \rangle$ such that the equalities

$$\begin{aligned} z_n^{(4)}(t) &= \left(g(x_n, z_n'(t), z_n''(t), z_n'''(t), \mu_n)\right)(t), \quad n \in \mathbf{N}, \\ z^{(4)}(t) &= \left(g(x, z'(t), z''(t), z'''(t), \mu_0)\right)(t) \end{aligned}$$

hold for $t \in \langle 0, 1 \rangle$. Moreover $||z_n^{(4)}|| \leq L \ (n \in \mathbf{N})$, where

$$L = \sup \left\{ \| (g(\varphi, x, y, z, \lambda)) \|; \ \varphi \in \mathbf{X}_M, \\ x, y, \in \langle -M, M \rangle, \ z \in \langle -T, T \rangle, \ \lambda \in \langle \lambda_1, \lambda_2 \rangle \right\} (< \infty).$$

In order to prove that $\{z_n\}$ is convergent let $\{\tilde{z}_n\}$ be a subsequence of $\{z_n\}$ and $\{\tilde{\mu}_n\}$ be the corresponding subsequence of $\{\mu_n\}$. By the Arzelà-Ascoli theorem, we can select a convergent subsequence $\{\tilde{z}_{k_n}\}$ of $\{\tilde{z}_n\}$, $\lim_{n\to\infty} \tilde{z}_{k_n} = u$, and since $\{\tilde{\mu}_n\}$ is bounded without loss of generality we may assume that $\{\tilde{\mu}_{k_n}\}$ is convergent, $\lim_{n\to\infty} \tilde{\mu}_{k_n} = \tau$. Thus, taking the limit in the equalities

$$\tilde{z}_{k_n}^{\prime\prime\prime}(t) = \tilde{z}_{k_n}^{\prime\prime\prime}(0) + \int_0^t \left(g(\tilde{x}_{k_n}, \tilde{z}_{k_n}^{\prime}(s), \tilde{z}_{k_n}^{\prime\prime}(s), \tilde{z}_{k_n}^{\prime\prime\prime}(s), \tilde{\mu}_{k_n}) \right)(s) \, ds, \quad n \in \mathbb{N}$$

as $n \to \infty$, we have

$$u'''(t) = u'''(0) + \int_0^t \left(g(x, u'(s), u''(s), u'''(s), \tau) \right) \, ds, \quad t \in \langle 0, 1 \rangle.$$

Therefore (u, τ) is a solution of BVP

$$r^{(4)}(t) = (g(x, r'(t), r''(t), r''(t), \tau))(t), \quad (16).$$

Since this BVP has a unique solution (z, μ_0) we have $(u, \tau) = (z, \mu_0)$. Hence every subsequence of $\{z_n\}$ has in turn a subsequence that converges to z, and we conclude that $\{z_n\}$ is convergent $\lim_{u\to\infty} z_n = z$ and T is a continuous operator. Since

$$T(\mathbf{S}) \subset \left\{ x; \ x \in \mathbf{S} \cap C^4(\langle 0, 1 \rangle), \ \|x^{(4)}\| \le L \right\} \ (=: \mathscr{L})$$

and \mathscr{L} is a compact subset of \mathbf{Z} , $T(\mathbf{S})$ is relatively compact subset of \mathbf{Z} . Now, the existence of a fixed point of T follows by the Schauder fixed point theorem.

Example 3 Consider the functional differential equation

(17)
$$x^{(4)}(t) = \int_0^t |x(s)| \, ds + a(t)x'(t) + b(t)x''(t) + q(x'''(t)) + (1+t^2)\lambda,$$

where $a, b \in C^0(\langle 0, 1 \rangle)$, $q \in C^0(\mathbf{R})$, b(t) - 2 > a(t) > 0 on $\langle 0, 1 \rangle$, $q(0) \neq 0$ and $\limsup_{|x|\to\infty} |x^{-2}q(x)| < \infty$. The assumptions of Theorem 4 are satisfied with constants

$$\lambda_1 = -|q(0)| rac{D+1}{D-2}, \quad \lambda_2 = |q(0)| rac{2D-1}{2(D-2)}, \quad M = rac{3|q(0)|}{D-2},$$

T > 0 sufficiently large and $w(u) = A + Bu^2$, where $D = \min\{b(t) - a(t); t \in (0, 1)\}$ and A, B are suitable positive constants. Hence, there exists a solution (x, λ_0) of BVP (17), (16) by Theorem 4. Note that for example the functionals

$$\int_0^1 x(s) \, ds, \quad \max\{x(t); t \in \langle 0, 1 \rangle\}, \quad \min\{x(t); t \in \langle 0, 1 \rangle\} \quad \text{and} \quad x(\xi) \ (\xi \in \langle 0, 1 \rangle)$$

satisfy the assumptions imposed upon α in (16).

References

- Fabry, Ch., Habets, P.: The Picard boundary value problem for nonlinear second order vector differential equations. J. Differential Equations 42 (1981), 186-198.
- [2] Hartman, P.: Ordinary Differential Equations. Wiley-Interscience, New York, 1964.
- [3] Pachpatte, B. G.: On certain boundary value problem for third order differential equations. An. st. Univ. Iasi, f. 1, s. Ia, Mat. (1986), 61-74.
- [4] Staněk, S.: Three-point boundary value problem for nonlinear third-order differential equations with parameter. Acta Univ. Palacki. Olomuc., Fac. rer. nat. 100, Math. 30 (1991), 61-74.
- [5] Staněk, S.: On a class of functional boundary value problems for nonlinear third-order functional differential equations depending on the parameter. Arch. Math. 62 (1994), 462-469.
- [6] Staněk, S.: Leray-Schauder degree method in functional boundary value problems depending on the parameter. Math. Nach. 164 (1993), 333-344.

a nataophatika m^{ana} manata di sa si si sa